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18. lim —7 =0 since e!/* 5 coasx — 0T,
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28. ¢’ (x) = o (e_zx cos 3.1() — ¢~ 2¥ (—3sin 3x) + (cos 3x) (—29_21) = —e~ ¥ (3sin3x + 2 cos 3x)
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36. b (x) = o [tan (92" + lllx)] = [se-n\:2 (ezx +h1.r)} (292" + —) = — (Exe‘h o 1) sec? (eh + lnx)
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49. y=xe "=y =¥ —xe T =(1—-x)e = y"h = 0. Thus, the slope of the required tangent line is m = 0, and an

equation of the lineis y —e ! = 0(x — 1) ory = 1/e.
50. xe¥ +2x +y=3=¢&" +xe¥y +2 + ¥ = 0. Substituting x = 1 and y = 0 into this equation gives 1 +y' +2+3 =0

or y"| (1.0) = —%. 20 the slope of the required tangent line is m = —%. and an equationis y — 0 = —% (x —1)or

__3 3
y= —jx+j

85. Letu = —x2. ﬁﬂf.rg_x“ dx = _%g—x* el

et fe* _ o . du _
91. I = [ ———dx. Letu=e" —e *.sodu=(e" +e *)dx. Then I = — =Infu|+C=nle" —e*|+C.
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04, / —2 dx = h—dl = 5 ]11 (ghl + 1)‘ = I:hlz — 111 (E_‘_ + 1)]
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101. Letu = (Inx)? = du = 21_‘” dx = X gy — lgy x = 1=u =0.andx = e = u = 1. Then

, 1
ff&%eﬂnx}- dx — %ﬁ}leu du — %gu‘ — -:lf (e —1).

=-2 (e_l — 91;'2) =2(J/e—1/e) \

102. 4 = [Zy e 2dx = —2e7/2) 1 \

¥

116. Differentiating the equation with respect to x, we have di fo} el dt + % f{;‘ cosfdi = 0. Using Part 1 of the Fundamental

X

‘ : . S e dy _ _ ay _ _ _—v .
Theorem of Calculus and the Chain Rule, we have e - o= (¥) + cosx =0 & e’ 7= = —c0osx & o= = —e ¥ cosx.

6.4

22. h(t) =41 = b’ (t) = (In4)4'!

-

24, fu)=2*" = f () =12 (2" -2u) = 2In2)u -2

27. fx)=x°+e" = [/ (x) =ex® 1 +¢"

, 1 iy 1 1
39. y = (x +)l/x = Iny = nx+2)/" = —n(x+2)= L _ ——zhl{x +2)+ —- =
X ¥ X xr x+2
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49, Tetu =14+ 3% sodu =3 In3dx. Then/l_'_y_ dx = w3l 7 T3 +C = %
1 d: log x ; 2In10 4, 2In10 ;
50. Letu = logx.sodu = ——r. Then/ v o8t dx = hllﬂful*'zdu = Luif’z +C = - (logx)3/2 + C or
= In10 x ; 3 =
2 (Inx)3/2
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